ACCOUNTANCY
IGECIE T

( Principles and Practice of Financial Accounting )

( Tt e & fag=a va =aawr )

(320)
Time : 3 Hours ] [ Maximum Marks : 100
qu ;3 U | [ qUifes : 100
Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and B’.

(ii) Al questions from Section ‘A’ are to be attempted.

(iii) Section ‘B’ has got more than one option. Candidates are required to
attempt questions from one option only.
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SECTION-A
Qus-A
1. Give the meaning of Trial Balance. 1
TAIE 1 31 FATST |
2. Define ‘goodwill’. 1
el EGINIRCIS 1
3. What is meant by ‘undersubscription of shares’? 1

3TN h 3TeY-3TMMEM ohi =1 379 27

4. A Journal entry contains one debit and one credit. Can there be an entry which
contains two debits and one credit? When is such entry made? Give an
example. 2

T USHEET T8 § Uk A o1 3TR Uk ST o1 @Tdl 2idl & | &1 b Tii® UEl 8 gehdl 2,
o €1 9w =T 3R U ST @t g7 UH Ui ohe SMTE STt 87 ohis Ush 3STEXUl 2o |
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5. “Accounting equation remains intact under all circumstances.” Justify the
statement with the help of an example. 2

““rat arfieRter et aftferfas o o A 217 3STe o 39 A i 3d SEuEu|

6. Explain, in brief, the basic requirements of computerised accounting system. 2

FIRIRT @I T ol SR ATTTIRATAT b1 Gad § qUeey |

7. What is meant by ‘capital expenditure’? Give any two examples of capital
expenditure. 2

dsfira = 1 e a1 27 USfia = ok IS |t et difs

8. Differentiate between Receipts & Payments Account and Income & Expenditure
Account on the basis of—

(a) Nature;

(b) Opening Balance. 2
T Td A @Il a7 ™ U9 o597 Qa1 § (o STTYR W 3T 975y, -

(%) S

(@) 9rfees oy

9. Maya and Nirmal are partners in a firm, but there is no partnership deed.
Following are the claims made by Maya which are not acceptable to Nirmal :

(i) Maya wants a salary of Rs 5,000 per month as she devotes full time to
the business

(ii) She wants interest @ 18% p.a. on the loan she has given to the firm

How will you deal with them? Give reasons in support of your answer. 2

" UE A U BH H HTHER €, Wl BH T S ETelerl Ho@ e | el " g fen
LRI ERECRICRAS RSN RS R

(i) W HEEE W RIS 8, FHIAY IR 5,000 Fo Wi WiE I Hl AT @
(i) 3T 3R FH I T T FO W TR 18% 1F B A =Ted!
Y 901 ford TohR O THTH U7 2799 I o HIA § SHror ST |
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10. State the meaning of ‘Accounting Cost Concept’. Give any two points of its
significance.

“TETRA NG TFERON 1 219 Jarsy | fohdi &t forgeti ol oot 36k We™ &l 3g@ hife |

11. State two advantages and two disadvantages of ‘Accrual Basis of Accounting’.

‘YSRGS e Ud St S0 ol 3gW ity |

12. Prepare a Bank Column Cash Book from the following particulars :

Date Details Amount
2011 Rs
January 1 Cash in hand 1,800

Cash at bank 3,650

» 8 Received cheque from Kamal and paid
into the bank on the same day 18,000
» 12 Paid to Nidan by cheque 12,000
» 18 Cash sales 15,000
» 22 Cash deposited in the bank 12,000
» 28 Withdrew cash from bank for personal use 4,200

frefafad foaron @ g wrf T ot SR

fafer feraror e
2011 to
S 1 Ry e 1,800

EER: RIETS 3,650
» 8 HAA | o UH g o I T o # w1 0 fen 18,000
» 12 TEW & 9% g e o 12,000
» 18 g fashl 15,000
» 22 % H Uhg ST I 12,000
» 28 T4sft 3w =g 5% @ i feereft 4,200
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13. R. B. Traders maintains special Journals as well as Journal Proper. Out of the
transactions given below, which will be recorded in Journal Proper? Record
those transactions in the Journal Proper. 4

(i) Purchased furniture from M/s. Decorators—Rs 7,800

(i) Paid salary for the month—Rs 12,000

(i) Depreciation charged on Machinery—Rs 3,200

(iv) Paid to Rajesh, a creditor, by cheque—Rs 6,400

(v) Goods withdrawn by proprietor for personal use—Rs 4,000

(vi) Not recovered from Sudhir, a debtor—Rs 1,600
3o dffo g fafire Usm=n wd g Usm=n wd 21 = U ™ oFe i § & ®F-3 e
1 TRET G TS § fohal STRIMT? 39 THeHT o1 G UsHTe=n | AAfiered ifs

(i) o SHNH ¥ HATaR WET—7,800 Fo

(i) W& % da F YIAE fRa—12,000 %o

(iii) TIAT W AFEFAV TRT—3,200 Fo

(iv) TSR TS 1 =% ZRT PTaE fRI1—6,400 %o

(v) =FFEE % @ A st 3w % fau are fom—4,000 %o

(vi) TR R ¥ Fgeht T& & wh—1,600 %o

14. Make necessary Journal entries to rectify the following errors : 4
(i) Purchases Book is overcast by Rs 1,000

(ii) Goods purchased on credit for Rs 8,000 from Rinkoo was entered in the
Sales Book

(i) Furniture purchased from M/s. Furniture House for Rs 12,800 was
entered in the Purchases Book

= S TyrfeEt & wiem o Tsmen vfafsEt fif

(i) S FE H AN 1,000 Fo ATeH TR T

(i) T & 8,000 Fo 1 U 39N Girer fvwhl fagear ot § ufafy i w8

(iii) 12,800 %o &I Ho Hl=R BI3H ¥ HrTer WiiaT fSroehl &1 ot 4 forg feam
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15. How will you show the following in the Income and Expenditure Account for the
year ended on 31st March, 20117?

Rs
Rent paid during 2010-2011 8,000
Rent due in 2010-2011 800
Rent paid in 2009-2010 for 2010-2011 1,200
Rent due of 2009-2010 paid in 2010-2011 1,000
Advance rent paid in 2010-2011 for 2011-2012 1,600

F=fafaa = = 31 W, 2011 i g9 99 & fu oy @ == @i 4 e uer 9
I ?

%o
2010-2011 ¥ foRT T 1A fora 8,000
2010-2011 ¥ 7&q foRa 800
2009-2010 & 2010-2011 3 ToTg FRUT &1 A 1,200
2009-2010 &% 374 foR@ =1 2010-2011 § A= 1,000

2010-2011 § 2011-2012 % fere foRm =1 a1fim yymam™ 1,600

16. Write any four amounts to be credited to deceased partner’s Capital Account to
ascertain the amount payable to his/her legal representatives.

Tdeh HISER o ! SAURINET 1 o7 TRT o1 Fafor w6 o e 38es O @rd o 5 8§
fewas St el = a1 faftag|

17. Apex Ltd. forfeited 800 shares of Rs 10 each, issued at a premium of Rs 5
per share. The holder of these shares has paid Rs 4 per share as application
money. He has not paid the allotment money of Rs 8 per share (including
premium) and call money of Rs 3 per share. Out of 800 forfeited shares,
600 shares were reissued for Rs 6,400.

Make necessary Journal entries in the books of the company.

T fdo 7 10 %o Ufd & 5 o Ufd 7w Wifem W frifaa 800 37=1i &l weaq o fo=m| =
3T o U 4 4 Fo Uid 3T ¥ S TR 1 TaE Rl o1| 384 8 %o Ui 37w (Forad
iftem afeferd ) 3Teed TRT T 3 %o Uid 3791 AT TRT 1 FTAH a1 TR |

Sfed foRdl T §9 800 37Tt H & 600 3T &1 6,400 Fo § YH: frfe & faam )
FHEOT AT T JEdehi | STEwe UsHIE= Hiafsat i |

320/ 0SS /212A 6



18. The Bank Pass Book of M/s. S. M. and Sons showed a debit balance of
Rs 24,800 on 30th June, 2010. While comparing the bank-related transactions
of the firm in its Cash Book with Bank Pass Book the following differences
were found :

(i) Cheques of Rs 18,000 were issued by the firm by the end of June, 2010,
of which cheques of Rs 7,600 were presented in July, 2010

(ii) Cheques amounting to Rs 21,800 were paid into bank in the last week of
the month but cheques of Rs 12,500 only were collected and credited

(i) A customer had deposited Rs 14,200 directly in the bank account of the
firm but was not debited in the Cash Book

(iv) The bank has paid Rs 4,000 as insurance premium, but is not recorded in
the Cash book

(v) There appears items of Rs 450 as interest charged by the bank and Rs 360
as bank charges

Prepare Bank Reconciliation Statement as on 30th June, 2010. 6

Ho THo THo UUE HH ol & I8 b g1 30 [d, 2010 I 24,800 Fo I ATH Y AT
T R e A Uk ad § J% @ wwfua sifufafaa oFedt @ T g% 8 i e W
Frfafed s T ™

(i) HH EW 18,000 %o % =k 54, 2010 % 31 H IR fopd T A, 598 | 7,600 Fo
o J1E, 2010 H M o foTe s&qa ford ™

(i) 21,800 %o ¥ =k HEH & AfqW THTE H S # ST {6 T, ARKT Faad 12,500 Fo
% Fpt 1 A et g o o R

(i) T UTEH 4 14,200 Fo 6t T ®BH & o @rd § g & 51 =0 <, fSoent Uk adt &
T | oreft 7 foran

(iv) % T 4,000 ¥o * a1 Wftem w1 gram T, e ke ot # stfvoras &
eIk

(v) 450 %o Sk TR <A o AT 360 Fo & I % T T &

30 SH, 2010 ! % THIIH faawor TR i)
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19.

20.

On 01.01.2007 M/s. Health Care Pharmaceuticals Ltd. issued 1000,
10% Debentures of Rs 1,000 each at a discount of 9%. The debentures were
redeemable in yearly instalments of Rs 2,00,000 starting from the end of the
first year.

Prepare the statement showing amount of discount on issue of debentures to
be written off each year and prepare Discount on Issue of Debenture Account
for the years 2007, 2008 and 2009.

Ho Tod F EMEIRH fdfo 7 01.01.2007 1 1000, 10% FO9 1,000 Fo Ffd o=
9% % §2 W IR 3| Ol 1 I Y| I8 & A ¥ T 2,00,000 To HI aATfbh
fopedt o BT |

forawor qar hifsw foed ufd ad eraferfiaa st st skodEt o T o o h afyr <o T2
2 991 99 2007, 2008 W& 2009 1 wOe A T &7 @rar sy |

M/s. M. B. Telecom Ltd. offered to public for subscription 50000 shares of
Rs 100 each at a premium of Rs 20 per share. The amount was payable as
follows :

On Application—Rs 25 per share

On Allotment—Rs 70 per share (including Rs 20 as premium)

On Call—Rs 25 per share

Applications were received for 75000 shares. Shares were allotted to the
applicants on pro rata basis. Rohit Bhai, who was allotted 500 shares, did not
pay the allotment money. On his subsequent failure to pay the call money, his
shares were forfeited. Remaining call money was duly received.

Make Journal entries for the above transactions in the books of the company.

Ho WHo flo et fio 9 100 %o Wl 377 % 50000 3« 20 %o Wi 37w Hfifem =
SHTEIRYT 1 HEH &g TEdTad fohd | 5 o 3T 39 Teh foRan ST o -
e W—25 Fo Thi 377

AT TW—70 Fo Ui 37 (20 Fo Wtz wfza)
IMEHT W—25 Fo Ufd 319

75000 37R11 o ToTq 3T1e@ UTH U 3TTe@eh i 30 Al e AR SR T fF 77|
Ufga wig, fS@ent 500 19 erifd o6 T 9, 3 e i 1 a2 | Sush gy
ITeAT TR o P T FH T 3G 20 Rl Sfed B foran 1 2w |afi am=mn iy Femr

T T
IWIT ST hl FHFTT Y ST Jeashi § UsHTH=n Tfafsar hifs |
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21. From the following Trial Balance and additional information of M/s. Vikram
Brothers, prepare Trading and Profit & Loss Account for the year ended on
31st March, 2011 and the Balance Sheet as on that date : 10

Trial Balance as on 31.03.2011

Particulars Dr. Balances | Cr. Balances
Rs Rs
Stock (01.04.2010) 18,000 —
Purchases and Sales 1,20,000 1,98,000
Capital — 80,000
Drawings 18,000 —
Wages 8,000 —
Salary 24,000 —
Insurance 6,800 —
Discount Received — 800
Interest on Loan 2,000 —
Bad Debts 700 —
Cash 12,000 —
Carriage Outward 1,500 —
Plant & Machinery 42,000 —
Land & Building 65,000 —
Loan from Bank (10% p.a.) — 40,000
Debtors and Creditors 26,000 25,200
3,44,000 3,44,000

Additional Information :
(i) Stock on 31.03.2011—Rs 24,800
(i) Machinery to be depreciated @ 10% p.a. and Building @ 2% p.a.

(i) Wages outstanding amounted to Rs 600 and Salary outstanding is
Rs 2,000

(iv) Provision is to be made on Debtors @ 5% for Doubtful Debts

(v) Bank Loan was taken on 01.04.2010

320/ 0SS /212A o IPTO



OR

Following is the Receipts and Payments Account of Super Sports Club for the
year ending on 31.03.2011 :

Receipts and Payments Account
as on 31.03.2011

Receipts Amount Payments Amount
Rs Rs

Cash Balance b/d 3,200 | Refreshment 4,500

Entrance Fees 800 | Rent of Ground 6,000

Subscriptions 14,000 | Wages 2,400

Donations 9,000 | Telephone Charges 1,200

Life Membership Fees 2,500 | Fees paid to Coaches 6,800

Interest 240 | Miscellaneous Expenses 2,400
Profit from Entertainment 2,800 | Fixed Deposit

(@ 10% p.a. on 01.10.2010) 8,000

Balance c/d 1,240

32,540 32,540

At the beginning of the year, the club possessed Books of Rs 5,000 and

Furniture of Rs 2,500

Subscription in arrears at the beginning of the year was Rs 1,800 and at the
end of the year was Rs 1,200

Rent of Rs 1,000 was due at the end of the year

Provide Depreciation of Rs 100 on Books and Rs 250 on Furniture

Prepare Income and Expenditure Account of the club for the year ended on
31.03.2011 and the Balance Sheet as on that date.

320/ 0SS /212A
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Ho forsrd sied o i 193 T deive Ua Afdfcs g=-1 € 31 #E, 2011 1 GHH 99 & g
R @TdT T AT -8 Grar s ot 36t fafer st fearfa feemor sameu -

farearor ST 91T 9 I
%o %o

Wi+ (01.04.2010) 18,000 —
ERRCRCED] 1,20,000 1,98,000
gsit — 80,000

SATE 18,000 —

EEE] 8,000 —

EGE 24,000 _

Ele] 6,800 —
EEIRIEE — 800

T W AT 2,000 —

TId 700 —

S 12,000 —

IS 1,500 —

RRERCEMIE 42,000 —

o Td Waq 65,000 —
S T (10% p.a.) — 40,000
TER Ud THER 26,000 25,200
3,44,000 3,44,000

\Wﬁﬁ$H?W:

(i) 31.03.2011 ! WfF 24,800 To B

(ii) TR W 10% ek Td qaq W 2% s 6t G | TFI0 T 7

(iii) ¥TET AN 600 Fo AT 3T&T I 2,000 Fo B

(iv) STER W 5% ¥ Gl oM o T Yraem™ e 2

(v) % ¥ I 01.04.2010 I for=m m=w o

320/ 0SS /212A
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YT

= g W18 F« 1 31.03.2011 1 U T4 o 70 WM U e @ran o @0 §

R WiZq Fe F1 J17 TG YT @rar
31.03.2011 &
grfear e YT Tt
%o To
Thg A9 b/d 3,200 | Siea 4,500
EENENIE 800 | U3 1 fertrm 6,000
EEl 14,000 | wergdt 2,400
E| 9,000 | A = 1,200
ITTSAaA He&dT-3[esh 2,500 | ufstegent 1 HE 6,800
IE| 240 | fofie == 2,400
TRSH & 2,800 | @rafer s
(10% =f¥ss & 01.10.2010) 8,000
Y c/d 1,240
32,540 32,540

FAd o 9TE 99 % IRE H 5,000 %o Tl T&deh U 2,500 Fo T Bl oA

Y % UREY § 1S9 91 1,800 Fo qAT 99 o 37q H 1,200 Fo o

a9 % A=d H 1,000 Fo fRIT 1 < o

TEdRl T 100 Fo qUT HrfeRk W 250 Fo TG TEY

31.03.2011 ! GATH 99 & 90 Fq9 o1 3T U I @rar sy qan 3H fafer sk ferf-

oo sATET

320/ 0SS /212A

12



22. Gunakshi and Apoorva are partners of a firm sharing profits and losses in the

ratio of 5: 3. On 31st March, 2011 their Balance Sheet was as follows : 10
Balance Sheet of Gunakshi and Apoorva
as on 31.03.2011
Liabilities Amount Assets Amount
Rs Rs
Capital : Bank 10,000
Gunakshi 80,000 Sundry Debtors 45,000
Apoorva 64,000 Stock 35,000
Sundry Creditors 31,000 Machinery 40,000
Reserve 32,000 Building 45,000
Goodwill 32,000
2,07,000 2,07,000
On that date they admitted Bhoomika as a partner on the following terms :
(i) Bhoomika brings Rs 40,000 as her Capital and Rs 12,000 for Goodwill for
% share of profit in the firm
(iij) Stock is valued at Rs 40,000
(iii) Prepaid Insurance is Rs 1,000
(iv) Building is appreciated by 12% and Machinery is depreciated by 12%
(v) A provision for Doubtful Debts is made on Debtors at 4%
Prepare Revaluation Account, Partners’ Capital Accounts and Balance Sheet of
the new firm. 10

320/ 0SS /212A
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OR

Sania and Sayana are equal partners in a firm. On 31st March, 2011, their
Balance Sheet was as under :

Balance Sheet of Sania and Sayana
as on 31.03.2011

Liabilities Amount Assets Amount

Rs Rs
Sundry Creditors 54,000 Cash at Bank 22,000
Reserve Fund 20,000 Sundry Debtors 24,000
Loan 60,000 Stock 54,000
Capital : Furniture 40,000
Sania 80,000 Plant 74,000
Sayana 80,000 1,60,000 Land 80,000
2,94,000 2,94,000

On that date partners decided to dissolve the partnership. Assets were realised

as follows :
Land—Rs 1,20,000

Furniture—Rs 20,000

Stock—Rs 42,000
Plant—Rs 44,000

Debtors at 10% less

The creditors were settled at Rs 50,000 and were paid

Loan was paid in full
Expenses of realisation amounted to Rs 6,000

Prepare Realisation Account, Partners’ Capital Accounts and Bank Account to

close the books of the firm.

320/ 0SS /212A
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el TR YAl Tsh BH H HEER @ AN AY-8IH o da/ 5: 3 o IAd H HLdl 2
31 ", 2011 = 3R fefa-foawo g6 yar o

oMt SR 3Tqat @1 fedta- fereror
31 3, 2011 &

%o %o
s EED 10,000
ToTeft 80,000 [EIEERCEE 45,000
Tqat 64,000 wih 35,000
fafyra MR 31,000 iRt 40,000
LR 32,000 GCE| 45,000
T 32,000
2,07,000 2,07,000

7 fafyr = 3 yfterr @t e wrat ) we areht % ' 9§ wew e

(i) e 40,000 %o USfi % G2 12,000 Fo HH < ww # L fewar % forw @rfa = g

(i) T H HeA 40,000 Fo 3Tk TAT

(i) Yded <@ 1,000 %o ¥

(iv) 9o % qoI § 12% h! Feiad shi 15 T A W 12% 1 STE&I00 IR 720

(v) TR R 4% @ iy FM & oI gae™ w61 7

YAHcATR WTAl, |ISER] o @Td a9 9 BH 1 et faawor samu)
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YT

e SR HEAET U BH § SER Bl |@EER g1 31 "M, 2011 @ 39 fedfa-faer

ﬁﬁ?gﬂ:
GQIfaar 37T GrAT 1 fesrfa-faeor
31 #re, 2011 Ft
%o %o

IEIEERGEEAR 54,000 g% 4 Uhg 22,000
= Y 20,000 IEICER-CEL 24,000
ol 60,000 ik 54,000
St R 40,000
i 80,000 EpP) 74,000
AT 80,000 1,60,000 ot 80,000
2,94,000 2,94,000

79 fafyr =1 wreerl 3 |reer o wH o futy foren | afweafie @ e afe o g

fi—1,20,000 %o
FH=I—20,000 %o
WiH—42,000 %o
TIT—44,000 %o
TTER 10% FH T

THER &l 50,000 %o IR fE@m™ Fahar fora
Ea IR U U CIERCR IR
Tt =—6,000 Fo o

®H o @Al %l 9 i o [T T WTal, |IHERI o Yt @Td q°1 S @11 S50 |

320/ 0SS /212A
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23.

24.

25.

26.

SECTION-B
Tug-a
OPTION-I
o1

( Analysis of Financial Statements )

( Torfra feraont st forserson )

Why is ‘management’ interested in the analysis of financial statements?

‘geruer fodia faeron o faveivor 8§ wf =i wed 87

What is meant by ‘solvency of a business concern’ Name the solvency ratios.

Tsh AR SRS hl MG -HAT hT 7 319 27 INH-0dT AT o 19 e |

Name any four tools of financial statement analysis.

forcttar foraoti = fereetwor = forel am wglaal & = <)

From the following information, calculate the amount of Opening Stock and

Closing Stock :

Sales during the year—Rs 2,00,000

Gross Profit on Sales—50%

Stock Turnover Ratio—4 times

Closing Stock—Rs 10,000 more than the Opening Stock

= & T gEe @ URferE Wi d s @i 6 e S

a¥ ¥ feshii—2,00,000 %o
forsht W Tt A—50%
i 3TEd AIAA—4 AT
arfam i, TRFTH i @ 10,000 To AfYH

320/ 0SS /212A 17
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27. From the following Balance Sheets of Environment-friendly Housing Ltd. as on

31.03.2010 and 31.03.2011, prepare Cash Flow Statement : 6
Balance Sheets of Environment-friendly Housing Ltd.
as on 31.03.2010 and 31.03.2011
Liabilities 31.03.2010(31.03.2011 Assets 31.03.2010(31.03.2011
Rs Rs Rs Rs
Share Capital 2,50,000 | 3,50,000 | Machinery 2,50,000 | 3,50,000
10% Debentures 3,00,000 | 2,00,000 | Goodwill 1,50,000 | 1,00,000
Accumulated Stock 2,50,000 | 3,00,000
Profits 1,50,000 | 2,50,000 | Debtors 2,00,000 | 3,00,000
Creditors 3,00,000 4,50,000 Cash at Bank 1,50,000 2,00,000
10,00,000 |12,50,000 10,00,000 |12,50,000
Additional Information :
Depreciation on Machinery amounted to Rs 30,000
TARRIAHE Theeft BRfE fido % 31.03.2010 Td 31.03.2011 & = & & fedrfa-foamon
T kg JaTe feoremor I i
TARRITEE Bgett g13iaT foo @7 fedifa-faremor
31.03.2010 @97 31.03.2011 I
aaT 31.03.2010|31.03.2011 gRaETfrT 31.03.2010|31.03.2011
%o %o %o %o
SNl 2,50,000 | 3,50,000 | wHefd 2,50,000 | 3,50,000
10% ZU9A 3,00,000 2,00,000 | @i 1,50,000 | 1,00,000
gfua oy 1,50,000 2,50,000 | i+ 2,50,000 | 3,00,000
SR 3,00,000 | 4,50,000 | ¥R 2,00,000 | 3,00,000
§% 1 T3 1,50,000 | 2,00,000
10,00,000 | 12,50,000 10,00,000 | 12,50,000
AR Gl :

il T StaeEr it Tl 30,000 %o off

320/ 0SS /212A
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OPTION-II
IEET M|

( Elementary Cost Accounting )
( IR AT AR )

23. Distinguish between Cost Accounting and Financial Accounting on the basis
of ‘objective’. 1

‘IR T MR W ARG AR U6 forffr Srame § 3w Saree |

24. Name any four components of Total Cost. 2
Tl AT oh fhrel TR awdl o A A0

25. State any two limitations of Cost Accounting. 2
AT TRETeR s feohegl &1 TiH1sTl &1 3g@ hifstu |

26. From the following information in respect of Material No. ST 30, calculate—
(a) Reorder level;
(b) Maximum stock level. 4

Normal Consumption—400 units per week
Maximum Consumption—600 units per week
Minimum Consumption—200 units per week
Reorder Period—6 to 8 weeks

Reorder Quantity—200 units

gt Ho ST 30 ¥ wraf-aa e g= 94—
(%) RGE mw;
(@) Aferran =i &M

=t o Fifsa |

YT IR —400 3H1eaT 9id THTE
AfereRan ITTT—600 FHTEAT Ui THIE
S[AAH ITRT—200 3HTEAT Tfd TH1E
TH: S IAI—6 ¥ 8 THIE

T ISR HH—200 THEAT

320/ 0SS /212A 10 IPTO



27. From the following information, prepare Cost Sheet for the period ended on
31st March, 2011 6

Opening Stock of Raw Material—Rs 18,500

Purchase of Raw Material—Rs 1,94,000

Closing Stock of Raw Material—12,500

Direct Wages—Rs 72,000

Direct Expenses—18,000

Factory Overheads—100% of Direct Wages

Office and Administrative Overheads—20% of Works’ Cost
Selling and Distribution Overheads—Rs 40,000

Profit on Cost—25%

[Note : There were no Opening or Closing Stock of Finished Goods]

7= g==1 9 31 we, 2011 &I THH 74l * e @wma foewe qam Fhifsw

] AT T AR =h—18,500 %o
Tl |l 1 $3—1,94,000 %o

Tt At T AfaH Wih—12,500 %o

Jeged Hsigii—72,000 %o

T FI—18,000 Fo

FHREM] IUNTT TI&l F5qdl 61 100%
FHEATAT T YT 3TN 18 AW 1 20%
fora v faawor suftes@—40,000 %o

AN W ATH—25%

[ F1e : TR T o hig AR Wik AYal Af<m i &1 o |

* Kk ok

320/ 0SS /212A 20 v]l11—O000x3



